
B+ Tree  
Insertions and Deletions

(Example from Ramakrishnan and Gehrke book)



B+ Tree

2 3 5 7
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Insert

2 3

5 13

14 16 19 20 225 7 8 33 34 38 39

24 30

17

24 27 29

Insert 8
17 is  

“pushed up”

5 is  
“copied up” 
(data stays  

in leaf)



Delete

2 3

5 13

14 16 20 225 7 8 33 34 38 39

24 30

17

24 27 29

Delete 19

19 deleted from leaf. Done.



Delete with Redistribution

2 3

5 13

14 16 22 245 7 8 33 34 38 39

27 30

17

27 29

“Redistribute” data by  
taking 24 from sibling.

Delete 20

Update index 
to reflect  

redistribution



Delete with Merge

2 3

5 13 17 30

5 7 8 14 16 22 27 29 33 34 38 39

17 is “pulled down” 
from the parent

27 is “tossed”

Delete 24


